
C A L L U M  R I G H T  S T O R A G E  B E D  F U L L /  Q U E E N  I N S T R U C T I O N S

ASSEMBLY INSTRUCTIONS:

STEP 1 :   

Attach the Right Storage Base (C) and Left 

Side Rail (D) to the Headboard (A) with Short 

Bolt (2), Spring Washer (3), Flat Washer (4), 

and tighten by using Allen Key (4).

STEP 2:   

- Remove the drawer from Right Storage 

Base (C) completely, and set it aside. 

- Position the Footboard (B) between the 

Right Storage Base (C) and Left Side 

Rail (D) and align the holes.

NOTE:  

- The drawer is equipped with rubber 

stopper that prevent the drawer  from 

being removed during normal operation. 

- During assembly, the drawer can be 

removed  with minor force as the rubber 

stoppers will bend to allow the drawer 

to be removed completely.

- When removing the drawer, it MUST 

be removed at a straight angle. If it is 

crooked, the drawer will stick on the 

wooden runners.

TOOLS NEEDED:

Phillips Head Screwdriver (not included) 

PARTS INCLUDED:

A [1 ]
B [1 ]
C [1 ]
D [1 ]
E [3]
F [2]

HEADBOARD PANEL
FOOTBOAR PANEL
RIGHT STORAGE BASE
LEFT SIDE RAIL
STRETCHER BARS
PLATFORM PANELS 2

3

4

5

Bolt 5/16” x 1-3/4” 4 pcs.

8 pcs.

8 pcs.

1 pc.

Flat  Washer 5/16”

6 26 pcs.Screw 8 x 30mm

Spring Washer 5/16”

Allen Key 4mm

NO. ITEM DESCRIPTION QTY.

1 Bolt 5/16” x 2” 4 pcs.

D

4x

C

A

C

D

2 5

B

4
3

Page 1 of 3



Page 2 of 3

4x

6x

1

5

6

Phillips Head Screwdriver (not included).

4 3

STEP 3:   

Attach the Right Storage Base (C) and Left 

Side Rail (D) to the Footboard (B) with Long 

Bolt (1), Spring Washer (3), Flat Washer (4), 

and tighten by using Allen Key (4).

STEP 4:   

- Place the Stretcher Bars (E) on the opening 

between the Right Storage Base (C) and Left 

Side Rail (D). Tighten with Screws (6) and 

Phillips Head Screwdriver (not included).

- Put the Drawer back into the Right Storage 

Base (C) while bending the rubber stopper as 

needed to allow the drawer to enter the drawer 

box.

This will require some force to get the drawer 

back into the box.

Note: Make sure the wooden drawer runners, and 

the rubber stoppers are properly aligned as you 

re-install the drawer.

C

C

D

D

B

E

C A L L U M  R I G H T  S T O R A G E  B E D  F U L L /  Q U E E N  I N S T R U C T I O N S



CARE INSTRUCTIONS:

1.    Dust often using a clean, soft, dry lint-free cloth. 

2.   Blot spills immediately, and wipe with a clean, damp cloth.

3.   We do not recommend the use of chemical cleansers, abrasives, or furniture polish on our lacquered finish. 

Page 3 of 3

20x
6

Phillips Head Screwdriver (not included).

STEP 5:   

Lay the Platform Panels (F) on top of the 

Stretcher Bars (E) and attach using Qty.20 

Screws (6) with Phillip Head Screwdrive

F

F

C A L L U M  R I G H T  S T O R A G E  B E D  F U L L /  Q U E E N  I N S T R U C T I O N S



ASSEMBLY INSTRUCTIONS:

STEP 1 :   

Attach the Left Storage Base (C) and 

Right Side Rail (D) to the Headboard (A) 

with Short Bolt (2), Spring Washer (3), 

Flat Washer (4), and tighten by using 

Allen Key (4).

STEP 2:   

- Remove the drawer from Left Storage 

Base (C) completely, and set it aside. 

- Position the Footboard (B) between

the Left Storage Base (C) and Right 

Side Rail (D) and align the holes.

Note: 

- The drawer is equipped with rubber 

stopper that prevent the drawer  from 

being removed during normal operation. 

- During assembly, the drawer can be 

removed  with minor force as the 

rubber stoppers will bend to allow the 

drawer to be removed completely.

- When removing the drawer, it MUST 

be removed at a straight angle. If it is 

crooked, the drawer will stick on the 

wooden runners.

TOOLS NEEDED:

Phillips Head Screwdriver (not included) 

PARTS INCLUDED:

A [1 ]
B [1 ]
C [1 ]
D [1 ]
E [3]
F [2]

HEADBOARD PANEL
FOOTBOAR PANEL
LEFT STORAGE BASE
RIGHT SIDE RAIL
STRETCHER BARS
PLATFORM PANELS 2

3

4

5

Bolt 5/16” x 1-3/4” 4 pcs.

8 pcs.

8 pcs.

1 pc.

Flat  Washer 5/16”

6 26 pcs.Screw 8 x 30mm

Spring Washer 5/16”

Allen Key 4mm

NO. ITEM DESCRIPTION QTY.

1 Bolt 5/16” x 2” 4 pcs.

D

4x

C

C

D

2
5

A

B

4
3

Page 1 of 3

C A L L U M  L E F T  S T O R A G E  B E D  F U L L /  Q U E E N  I N S T R U C T I O N S



Page 2 of 3

4x

6x

1

5

6

Phillips Head Screwdriver
          (not included).

4

3

STEP 3:   

Attach the Left Storage Base (C) and Right 

Side Rail (D) to the Footboard (B) with Long 

Bolt (1), Spring Washer (3), Flat Washer (4), 

and tighten by using Allen Key (4).

STEP 4:   

- Place the Stretcher Bars (E) on the opening 

between the Left Storage Base (C) and Right 

Side Rail (D). Tighten with Screws (6) and 

Phillips Head Screwdriver (not included).

- Put the Drawer back into the Left Storage 

Base (C) while bending the rubber stopper 

as needed to allow the drawer to enter the 

drawer box.

This will require some force to get the drawer 

back into the box.

Note: 

Make sure the wooden drawer runners, and 

the rubber stoppers are properly aligned as 

you re-install the drawer.

C

C

D

D

B

E

C A L L U M  L E F T  S T O R A G E  B E D  F U L L /  Q U E E N  I N S T R U C T I O N S



CARE INSTRUCTIONS:

1.    Dust often using a clean, soft, dry lint-free cloth. 

2.   Blot spills immediately, and wipe with a clean, damp cloth.

3.   We do not recommend the use of chemical cleansers, abrasives, or furniture polish on our lacquered finish. 

Page 3 of 3

20x
6

Phillips Head Screwdriver 
           (not included).

STEP 5:   

Lay the Platform Panels (F) on top of the 

Stretcher Bars (E) and attach using Qty.20 

Screws (6) with Phillip Head Screwdrive

C A L L U M  L E F T  S T O R A G E  B E D  F U L L /  Q U E E N  I N S T R U C T I O N S

F

F


	355-109-110 CALLUM Right STG  QUEEN & FULL Bed 07-2017.pdf
	355-109-110 CALLUM Left STG  QUEEN & FULL Bed 07-2017.pdf

